Best model for HELP J142606.762+351940.197 at z = 1.156 x?=0.88

OPTx2=0.89 IRy?=1.1 threshold (OPT IR)=17.25 [um]

Stellar attenuated

102 T Stellar unattenuated
E —— Dust emission
] —— AGN emission
101 3 = Model spectrum
E ® Model fluxes
] M oObserved fluxes
— 10°;
> :
é 10—1 4
% Y'q’\'\c“""h—--,dﬂ"?‘*r‘”” - \\5\
=
L -2
1072 4 .S
1073 3
207 5
o) 3
‘© ] =4=— (Obs-Mod)/Obs
3 ]
S ]
s ]
] o [ W 1 O g O e e e B e e S S S S S ———
hat ]
) ]
S ]
5 ]
© -1 T A — 7 —
2 10° 10! 102 103

Observed wavelength [um]



